H & 0l & AHS B Ml A

INPNLLES )}
ANLlySA 23t
AXHE S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ot 5,851,009 6,098,993 A247,984
= 40,037
Al 1,086,611
- 4,724,361
A AL 2,882,182 2,908,270 A\26,088
= 2,020
Al 73,660
- 2,806,502
AxHE S 2,718,425 2,848,870 130,445
= 2,020
Al 73,660
- 2,642,745
SR 15,264 15,328 o]
201 2= 4,608 5,888 1,280
01 AtR2t2lt] 4,608 5,888 1,280
O=gl 4,608
A EEES EE N
8,0003 *6 2 x 1202 »80%<E 2> 4,608
202 048l 8,256 7,040 1,216
01 2L A b 8,256 7,040 1,216
OsggeFao
20,0002 x2EH 482 x80U<E 2> 1,536
OSHEUTXIHEADEH 01
20,0003 7 H*60L «80%<E 2> 6,720
204 APt AH| 2,400 2,400
02 E3g =23l 2,400 2,400
Oozssgyzew
100,000 x2&* 122 2,400
S Ll 6,300 21,900 /15,600
203 =4l 6,300 6,300 0
03 A=A 2= 6,300 6,300 0
OSHIANHRHIFA
7,000,000 »90%<E 2> 6,300
FRAUAMNLAZAHFA 50,800 32,000 18,800
201 er23 | 43,600 24,800 18,800
01 At2teltl 12,400 12,800 A400
Oget+=EZHI 12,400
—AZVR, BABASLHSHIRES
5,000 x2002*33| x80%<E &> 2,400
—ZHIHHXARERYS
5,000,000 «80%<& &> 4,000
—HARSSATGS
5,000,000 x80%<E 2> 4,000
—Ols2EALxR
1,250, 0002 *20H A +80%< & 2> 2,000
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SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 22,000
T 22,000
301 EtE NS 44,000 44,000 0
Al 22,000
- 22,000
M Hetssstis 44,000 44,000 0
OMOIS X=X HEE S
2,000,000 x22H 44,000
Al 22,000
- 22,000
SyEd 4,224 5,128 A904
201 2= 2,688 2,176 512
01 At22t2ltl 2,688 2,176 512
Ogpt4gH) 768
—EEHE SR (H4E)
80,0003 * 1274 +80%< & 2> 768
OEEL 1,920
L EEE S I
8,000 x5 +60 L xB0U<E &> 1,920
202 04l 1,536 1,952 A416
01 2LHoIH 1,536 1,952 A416
O +AHESZ 0L
20,0003 x2E 482 +80%<E 2> 1,536
o Xtxz =2g A2 363,200 824,520 461,320
201 fet=23y| 286,400 349,320 N\62,920
01 AtR2te|HI 182,400 220,320 A37,920
Oger=2g| 182,400
-3 FA = (E2l3l)
30,0003 x12E 12 4,320
—3loF A= (AH)
30,0002 *40S * 12« 120 S 172,800
—ASZME (A7)
10,0003 40 1200 S+80%<E 2> 3,840
—ZAHME (S22, RS
180,000 x 12 +x80%<E &> 1,440
03 A2 Y] 104,000 129,000 A25,000
Obts2hg=Aas, FUss 104,000
—SNe=20tSHE+-EATS
5,000,000 * 1274 S+ 12| +80%<E 2> 48,000
—FUEI (R, S& . 22ES)
5,000,000 1271 S+ 12| x80%<E 2> 48,000
—HIUERSIYFOUXNXHHEZ I HHA
=l 10,000, 0002 1] »80%<E 2> 8,000
301 EtE2 N = 76,800 475,200 398,400
11 #AIAMHIXIZ S 76,800 115,200 A38,400




SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gl 76,800
R EEYEE
8,000 »40E *202|« 124 S 76,800
FUXR A S L3t 6,400 11,244 N4,844
201 et 3| 6,400 7,200 A800
03 A2 I 6,400 7,200 A800
OnELERECEEES
4,000, 0003 =22 x80%<E 2> 6.400
FOXXME 2208 2 556,005 280,960 275,045
201 er23| 4,120 3,600 520
2 35234l 4,120 0 4,120
OZ2Z22=ZHAl 1,000
—SHOINAEASAIESE
600,000 *1 600
—SSLISAAMES 220,000 *1 220
—ZMAEIAOI B2
180,000 1 180
OAIZ2Z =X 3,120
—FUNXEHEZ IHEHOIA
=AI224| 3,120,000& x 13 3,120
307 212+01& 551,885 255,360 296,525
05 2ItRIE = 551,885 255,360 296,525
O=QITXIHERII?EHR2 A 561,885
— 2K HIE Q1 2] 296,525,000 296,525
— UK ZZ 82 A]
255,360,000 255,360
FUFAHU AN 2E 10,566 16,970 16,404
201 2= 10,566 8,770 1,796
01 At22t2lH] 10,566 8,770 1,79%
Oget=ZH| 3,456
— R0l A2 0t 2 Xtz 01 A
15,0002 *200 2 +80%<E 2> 2,400
— TN ASHOINEES =M=
55,0003 *12)H S 22| x80%<& 2> 1,056
O=g=< 7,110
—FUFAHPLU(E) PR EFAE
50,0003 x48H x2 4,800
—FUEHM S 2 AL
370,000 x12H 33| 1,110
—F=FMME B F A
(ZRUZEE)
150,000 * 102 * 13 +80%< 2 2> 1,200
OIS SSHESSH(AHI) 539,954 527,991 11,963
Al 30,000
T 509,954




SA R E
3 NLAYARSYS
eelr AXIdE 7S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 539,954 527,991 11,963
Al 30,000
- 509,954
05 212t =S 539,954 527,991 11,963
OUEFASSHAIZLE B2t E S 409,954
—QIAH| 344,578,000 344,578
—=2gH| 65,376,000 65,376
Os20t=USIIS2AEY
95,000,000 95,000
Al 30,000
- 65,000
Oll=ssHMEgdst 35,000,000 35,000
Dl=ssSHEdst 44,466 154,735 110,269
201 2= 7,520 15,628 A8,108
01 At22t2l] 5,520 13,628 28,108
Oget=ZH| 1,200
—OISSSHEE=NES
500, 0002 32/ +80%<E 21> 1,200
o2gay 2,400
~ OIS T ENB L5 B HA Y
(ZU=2E)
150,000 » 102 +23] +80%<ZE 2> 2,400
O=gl 1,920
—SSHERFISZSA
8,000 2152 x60 28U 2> 1,920
2 BTS2l 2,000 2,000 0
ORZRIUHA 2,000
SN EEET
2,000,000& %12 2,000
202 04l 6,946 1,757 A4,811
01 2LHoIH 6,946 1,757 A4,811
OSSHY R 0]
20,0003 x4 +722 +80%<E 2> 4,608
OSsHads =0
97,4003 x32 x 102/ +80%<E 2> 2,338
307 212+01& 30,000 45,000 15,000
05 2ItRIE = 30,000 45,000 A15,000
oHExE20=2=lId 8=
(SSHEDE) 15,000,000 15,000
OSSHUOILIZ2E =012t01 AL
15,000,000 15,000
=+ SsH 010N 2d3tate 30,000 30,000 0
307 @120l & 30,000 30,000
05 git?(& = 30,000 30,000




2A: AXAEE
M YA}
eelr AXIdE 7S (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUERZ2SHOICIHEAHSIAL
30,000,000& 30,000
FUAHRUEIZB2tES 22,600 0 22,600
405 XHobE S| 22,600 0 22,600
01 AL =EFSHI 22,600 0 22,600
OsESHH=THHISIIHIE Y 9,100
—slojgaa 300, 00021 200H 6,000
=T NEIp 70,0002 +4071 2,800
— 201 300, 00024 +17H 300
ONEHRI A =B S E|ME TSR A D)
32 13,500
—=AZHY 300,000 *30J4 9,000
— &0l 2Rt 70,0002 x607H4 4,200
— 2o 300,000 =124 300
Sc2eES2 SE23dlH 22 13,920 0 13,920
201 B2 AY| 13,920 0 13,920
01 A=R2teld| 1,920 0 1,920
Ogsr2g) 1,920
~ANPBESTY
200,000 » 123 +80%<E 2> 1,920
02 B2=2gH| 12,000 0 12,000
O3=22SHA 12,000
—&IIe3sS 1,000,000& =123 12,000
DEAEDI2HE2g 26,979 23,296 3,683
201 B2 AY| 17,512 14,952 2,560
01 A=R2teld| 17,512 14,952 2,560
Oget=2H| 13,000
— DA IR E S LIS
9,000,000& 9,000
—E22SHNESELHI
5,000, 0002 *B0%<E 2> 4,000
o2gs4Y 2,400
—HHSHEAJASEBL S (Z WS ELE)
150 A +6H 23| +BO%<E 2> 1,440
—DEARIIZ 2RI AB BL LY
(== EE)
150, 0002 #4 X 25| «80%<E 2> 960
ozl 2,112
LS E eSS N
8,000 *3H 110 x80%<E 2> 2,112
308 AXISHMSOIN 9,467 8,344 1,123
13 SI |2 SUICHEHE A E L EFALAHI 9,467 8,344 1,123
Ol A EeSH A 22| 9,467,000& 9,467
SSOIEF2XA NG9S s 29(=2H]) 2,020 3,500 21,480
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SA R E
3 NLAYARSYS
el AIXAHF S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OolEU & LN EASUHE X2l AFSHI
5,250,000& 5,250
OUE T AMOIS3I AL 51,790,000 51,790
O=Ho SN 2AUHE 23 AISH
13,250,000 13,250
03 M EHE2SHIEX 124,491 119,340 5,151
Ot 2sHE 82223
30,970,000& 30,970
Ost=A=SHUUE X =2/=H|
30,970,000 30,970
OUE T MOtS2I 22 55,351,000 55,351
Otl=EaSL =3NS 1222
7,200,000 7,200
TSN R 54,780 8,000 46,780
201 et23| 4,080 0 4,080
01 At22te|Hl 4,080 0 4,080
o2gay 4,080
—CHC PRI X QHE Ol 5 @ B A A
(ZUE2E)
150,000 * 17 +23] +80%<E 2> 4,080
301 2eEN= 43,700 0 43,700
06 AHELHUHAEIXIZ 43,700 0 43,700
OXELHUALEIXIZ 43,700
T E L]
50,0002 x19JH CH =123 11,400
—=EXER A 500,000 * 197 CH 9,500
—OFAlH| 4,000 *300 * 199K CH 22,800
307 elztol & 7,000 8,000 21,000
02 LB HAHE L 7,000 8,000 21,000
O ASHE X HAIS 3,000,000& 3,000
OAt2| N S 2B ALS 4,000,000 4,000
LS (AlL]) 21,660 47,270 A25,610
Al 21,660
301 EtE NS 21,660 47,270 N25,610
Al 21,660
06 AHELHUHAHIXIR 21,660 47,270 N25,610
OXts28iadI X 21,660,000& 21,660
Al 21,660
AXI2E K& 6,080 0 6,080
201 fer= 3| 6,080 0 6,080
01 At 2|l 6,080 0 6,080
O=g=4g 4,960
—FUSHIAY AT AE
100,000 x6H x22| «80%<E &> 960
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2A: AXAEE
B RgEoi A
Chol: SXAL BE (Hol: &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SASsHISKEE AL 22 104,357 104,357
201 L2 | 20,010 20,010
01 Ar22eltl 20,010 20,010
Oget=2H| 20,010
— M2 SABAOIHYIS
20,010,000& 20,010
405 KHHE SH| 84,347 84,347
01 ML SEFHSHI 84,347 84,347
OF ORI SIAIR A 4,482
—HANE(HAZ) 450,000 & 22t 900
—HE 256,000 *2CH 512
—SIXHEIE) 230,000& x22¢ 460
—INBIS (6HIE0I) 330,000 *2CH 660
—IHEIS (3HOIE0I) 200,000 *2CH 400
—3oSEIHEH) 400,000 +1CH 400
—3|9|Z2Xt 130,000& *52¢ 650
—d4d&0 500,000 *1CH 500
03|24l 11,300
—3|oESIHEE) 400,000 *10CH 4,000
—3|QSERHAH) 200,000 *7CH 1,400
— 9| X} 130,000 302 3,900
—dIZAE 2,000,000 *1CH 2,000
oolgre(&n 1,708
— S22 HEBHH) 362,000 & *34 1,086
—BASHEN(SE) 311,000 =24 622
Ogtla 2,712
—&30 690,000 *1CH 690
—&HT(TH) 485,000 *1CH 485
—MEH(TE) 364,000 *1CH 364
—gHIE 253,000 *1CH 253
—3|O|SERHAH) 200,000 *2CH 400
— XA Z Rt 130,000 »42+ 520
Oos&4 4,780
—HANE(SEHE) 1,200,000 =12 1,200
— 0S8 LA MEEH 580,000 *1CH 580
— I =SEE 400,000 =12t 400
—IHEI (6HOIE0I) 330,000 *2CH 660
—3|o|ZEt 400,000 *1CH 400
—3|9|Z2Xt 130,000& *82¢ 1,040
—d&D 500,000 *1CH 500
OMZD 11,990
—IHEI (6HOIE0I) 330,000 *3CH 990

_11_




SA R E
B RgEoi A
ol STA ES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—2g 11,000,000 * 14| 11,000
OHls/atZ2& 1 2,890
—223HEHH) 620,000 *2H 1,240
—2a2A3HEHT) 550,000 *37H 1,650
O=F2USEAML 9,600
—Dg 9,600,000 *14! 9,600
OAtISXIE Y 2,317
—223HEHH) 362,000 »1CH 362
—22AZHEHT) 403,000 ~5CH 2,015
ouzd 31,628
—HY(EEE) 1,000,000 22t 2,000
—2THEER) 310,000& *22t 620
—HY(HEE) 450,000 182+ 8,100
—2THAAZ) 230,000 %182} 4,140
—IHHI (60101 330, 000!~ 18CH 5,940
—IHHI (3HAHE0I) 200,000 *2CH 400
—ANEE 319,000 2CH 638
—3|2|EE A 400,000 *1CH 400
—32ASAXt 130,000 x82t 1,040
—0AZHE}0] 250,0003 *30CH 7,500
SAMAIEII 750,000 *1CH 750
OF~y=¢~ 980
— 3o BETHAE) 200,000 »1CH 200
—3|2|Z At 130,000 #62t 780
AR S AL 399,221 337,866 61,355
= 38,017
Al 72,393
- 288,811
A2 SAH -3t 399,221 337,866 61,355
= 38,017
Al 72,393
- 288,811
NASAEE Ot AUlA XA (=3H]) 9,574 10,914 1,340
= 4,787
Al 2,393
T 2,3%
307 glztol & 9,574 10,914 A1,340
= 4,787
Al 2,393
- 2,3%
02 LB HAHEE 9,574 10,914 A1,340
OXHS Ao 2SI
9,574,000& 9,574




2A: AXAEE
S AR SAH
Celr XSAH #4435t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 4,787
Al 2,393
- 2,3%
A 2CIUI0IE XIg 4(=34l) 66,462 65,231 1,231
= 33,230
- 33,232
307 2I2+01A 66,462 65,231 1,231
= 33,230
- 33,232
02 QIZHBAAIEE R 66,462 65,231 1,231
ORI ALRCILIOIEI KR (2Z)
66,461,600 66,462
= 33,230
- 33,232
KA SAZSESRIA(AY]) 70,000 70,000 0
Al 70,000
307 212+01™ 70,000 70,000 0
Al 70,000
02 IZHAAAIEER 65,100 63,900 1,200
OXASAMEEHE S S
65,100,000 65,100
Al 65,100
03 QN HER2GHIEX 4,900 6,100 21,200
OXEASAMEEH 2| 4,900,000& 4,900
Al 4,900
A SAESE SR 253,185 191,721 61,464
307 QIZ2t01 A 253,185 191,721 61,464
02 QIZHBAAIEER 11,860 11,660 200
OXASAEEHE S S
11,860,000 11,860
03 CIZIHXHE2IHIE X 241,325 180,061 61,264
OXESAEEH2Z | 241,325,000& 241,325
ME=I\ PSPNE-] 2,415,883 2,620,259 A204,371
Al 940,558
- 1,475,330
WFEAMNS 2,415,888 2,620,259 204,371
Al 940,558
- 1,475,330
e NEX7229 13,520 34,000 220,480
201 LB-2AY| 13,520 34,000 220,480
01 AR2teld| 13,520 16,000 A2,480
Oget=2H| 9,920
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SA R E
B DEUEAA
e BN s =D f (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NN PR INEBEUEESS
12,400,000 x80%<& 2> 9,920
O2g+y 3,600
—UEsEdUSIFE2EE 23S 8+
(ZU=2E)
150,000 152 +23] +80%<E 2> 3,600
St =0l 2R 1,200 2,160 A960
201 el 1,200 2,160 A960
01 At22t2lt] 1,200 2,160 2960
O=2g+¢ 1,200
S DESAME OB AL
100,000 * 152 +B0%<E 2> 1,200
R ARLxsE S4 XA (AH]) 1,176,539 1,016,503 160,036
Al 940,558
- 235,981
201 2= 840 840
01 At22t2lt] 840 840
O=g+y 840
—HEY LS ASDIUH ALY
(ZME2XE)
150, 0003 *7 2+ 13| +80%<E 2> 840
301 EtE N = 183,504 128,502 55,002
Al 146,803
- 36,701
14 0Bt 2a3 183,504 128,502 55,002
ONYaY2LsAS TR
183,504,000 183,504
Al 146,803
- 36,701
308 XXM SOl 992,195 888,001 104,194
Al 793,755
- 198,440
08 wEJ| 20 Het 2 992,195 888,001 104,194
Oz He WS A X ALY
992,195,000 992,1%
Al 793,755
- 198,440
SNBSS = KN 1,100,051 1,393,250 A293,19
308 XXM SOIA 1,100,051 1,393,250 A293,19
08 WEJ|20tetEx 1,100,051 1,393,250 N293,199
OstnRASAXA(E1-6)
624,657,000 624,657
Ot nRYSAXIH (S1-3)
470,081,000 470,081
OUMs=AHIXA 5,313,000& 5,313
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2A: AXAEE
M DSYINE
ol usEEold (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ME=SesfEt=py 525 15,098 A14,573
204 AR AY| 525 1,050 VANGYzS)
2 EEg2Z| 525 1,050 VANGYzS)
Otielg =l 525
— AP EHILDIHI(0FS)
50,0002 *1H* 122 *35/40 525
sstn 2PA4E K2 122,853 121,568 1,285
308 AXIEHMSOIN 122,853 121,568 1,285
10A- 2 7 WHISEIH HENEZ 122,853 121,568 1,285
OLSSNRAUNSXIJA 122,853,000& 122,853
2SS WIS A 1,200 1,200
201 L2 AY| 1,200 1,200
01 AtR2telt] 1,200 1,200
Oo2g=g 1,200
—WRIHIEXAO| RS & 4CF
100, 0002 * 15 *80%<E 2> 1,200
Y2 ZHI(RXIHH ) 153,718 232,598 78,880
olE2IH| 128,657 188,654 A59,997
oI 23| 128,657 51,49 77,161
101 2124 d| 128,657 51,49% 77,161
01 2= 85,344 51,4% 33,848
OEEEEIN
11,3193 x22H *3BA| 2+ + 12F + 1, 02+80%<E 2>
85,344
02 JIEt& &2 43,313 0 43,313
OHS(AIZIEE RTINS 1Y) 29,904
=J=2¢s 26,272,0003 1% 26,272
—X<SIAbI 26,272,000 +3. 1% 815
-80S 27,086, 4303 *130%x*8% 2,817
Oz (AIZIEEHLI NS 1Y) 9,529
—AZte 282
9,620 x 1H*35A| 2H+ 123 1, 02+80%<E 2>
3,297
—IEY 819
- BH Kt 40,000&*0.90x12&*1H 432
JIE 20,000&*1.61x12&*1H 387
— S
2,189,330% *40/36+84%+5%+ 12«1 1,262
—ZMZ Al 140,000& * 128 *1H 1,680
—&Z2EX&H|
175,000 * 12 *35A| 2t /40 Al 24+ 1H 1,838
—dJI2 4|
2,189, 3303 *B4%+*86%+ 12/30* 14 633
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SA R E
M HYRAZHI(AXHZ L)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZ el ZRag (Lot IIH /12)
11,3192 x 12 +30A| 2H+ 123 + 1. 02+80%<E 2>
3,880
Jl=23H| 25,061 43,944 18,883
Jl=23H| 25,061 14,834 10,227
201 er2 3| 17,790 11,583 6,207
01 Al 22| 17,790 11,583 6,207
O+ 8,160
—2A2gL+aY|
10,880,000 #75%<& &> 8,160
ozl 3,840
—RNSgYRENS2ZAY
8,000 x25 & x24 2 +80%<E 2> 3,840
Ogxz 5,790
—&AEADIEXE
105,000 x2CH* 123 2,520
—3J1838JI&R=
41,4002 *4CH* 122 1,988
— IRz 53,400 201+ 122 1,282
202 04| 3,07 960 2,11
01 =LHOLI 3,07 960 2,11
SNSRI 0H]
20,0002 x25 S 32 xB0U<E &> 1,200
Os8dgR=ao|
97,4003 x4 +32U +23| +80U<E 2> 1,871
203 =2l 4,200 2,291 1,909
MU FA2S LRSI 4,200 2,291 1,909
ORAMEZE =4 350,000& * 128 4,200
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